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Not all maximum-TDECQ signals
are equal

* Continuing to investigate the variety of bad
signals (both in-service signals and stressed
receive signals) and considering where the
limits of compliance should be

* Follows dawe 3cd 0la 0318.pdf



http://ieee802.org/3/cd/public/Mar18/dawe_3cd_01a_0318.pdf
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Update from dawe_3cd 0la 0318: the SRS signal has SJ that increases its IS
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Mismatch between SRS and real
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Don't support unrealistic bad
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"Exclusion” could be by giving signals in the red boxes

worse TDECQ scores, or by "hard" pass-fail rules
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A region like this
should be excluded
because it requires
strong tap weights not
useful in practice, and
IS not screened for in
SRS




